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B.Com. (Part–I) 

Suppl. EXAMINATION, 2021
(Group–II : Compulsory)

Paper First

BUSINESS MATHEMATICS

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. ¼v½ fuEu ;qxir lehdj.k dks rqyukRed fof/k }kjk gy dhft,µ 7

3 4 22 0 4 3 13 0x y x y- + = - + =,

Solve the following simultaneous equations by

comparison method :

3 4 22 0 4 3 13 0x y x y- + = - + =,

¼c½ jktho lat; ls 34 o"kZ cM+k gSA nl o"kZ iwoZ mudh vk;q dk ;ksx 
48  FkkA mudh orZeku vk;q Kkr dhft,A 8

Rajeev is 34 years older than Sanjay, ten years ago

the total of  their age was 48. Find their present ages.

vFkok 
OR

vYikgkj ds nks izdkj ds iSdsV P rFkk Q gSaA ;g nkok fd;k
tkrk gS fd ,d O;fDr ds fy, de&ls&de izfrfnu 24 bdkbZ
dSfYl;e] 25 bdkbZ izksVhu rFkk 18 bdkbZ dkcksZgkbMªsV pkfg,A
iSdsV P esa 6 bdkbZ dSfYl;e] 5 bdkbZz izksVhu rFkk 3 bdkbZ
dkcksZgkbMªsV gS rFkk iSdsV Q esa 4 bdkbZ dSfYl;e] 5 bdkbZ
izksVhu rFkk 6 bdkbZ dkcksZgkbMªsV gSA iSdsV P dk ewY; 1  ̀  rFkk 
iSdsV Q dk ewY; 2 ` gSA
P rFkk Q iSdsVksa dk og vuqdwyre la;ksx Kkr djus ds fy,
ftlls miHkksDrk dks U;wure dSfYl;e] izksVhu rFkk dkcksZgkbMªsV 
iks"kd rRo miyC/k gks tk,¡] bl leL;k dks xf.krh; :i esa
fyf[k,A 
P and Q are two types of packets of breakfast. A

person requires 24 unit of Calcium, 25 unit of Protein

and 18 units of Carbohydrates daily. Packet P

contains 6 units of Calcium, 5 units of Protein and 3

units of Carbohydrate and Packet Q contains 4 unit of  

Calcium, 5 units of Protein and 6 units of

Carbohydrate. The Price of packet P is ̀  1 and that of

Q is ` 2.
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Formulate this problem as a L.P.P to obtain optimum

combination of P and Q so that the consumer gets the

minimum requirement of Calcium, Protein and

Carbohydrate.

bdkbZ–2

 Unit–2
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 gks rks

3 6A B+  dk eku crkvksA 7
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Find 3 6A B+ .

¼c½ fuEufyf[kr lkjf.kd dk eku crkvksµ 8

1 1 1

1 2 8

1 3 27

Find the value of the determinant :

                                        

1 1 1

1 2 8

1 3 27

vFkok 
OR

y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft,µ 15

( . )

( . ) /

3678

42 77

4

1 3

Find out the value with the help of log tables : 

( . )

( . ) /

3678

42 77

4

1 3

bdkbZ–3

 Unit–3

3. ¼v½ dksbZ /ku lk/kkj.k C;kt ls nks o"kksZa esa  1200 ̀  rFkk 3 o"kksZa esa 
1300 ` gks tkrk gSA ewy/ku rFkk C;kt dh nj izfro"kZ
fudkfy,A 7

A certain sum at simple interest becomes  ̀  1200 in 2

years and  ` 1300 in 3 years. Find the principal and

rate of interest per annum.

¼c½ og le; Kkr dhft, ftlls lk/kkj.k C;kt ls  500 ̀  ij 6% 

okf"kZd dh nj ls mruk gh C;kt feys ftruk fd  540 ̀  ij 8
o"kZ esa 5% dh nj ls feyrk gSA 8

In what time will the simple interest on ` 500 at 6%

be equal to the interest on ̀  540 for 8 years at 5%. 

vFkok 
OR

1200 ` dk 8 izfr'kr okf"kZd pØo`f) C;kt dh nj ls 2 o"kZ
dk pØo`f) C;kt fudkysa ;fnµ

(1) O;kt dk vkx.ku v)Zokf"kZd gksrk gksA
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(2) C;kt dk vkx.ku ekfld gksrk gksA
Find the compound interest on ` 1200 @ 8%

annually for two years if :

(1) Interest is calculated half yearly.

(2) The interest is calculated monthly.

bdkbZ–4

 Unit–4

4. ¼v½ nks Hkkb;ksa dh okf"kZd vk; 8 : 5 ds vuqikr esa gS vkSj os 5 : 3 ds 
vuqikr esa O;; djrs gSaA ;fn mudh cpr ` 2400 rFkk
` 2000 okf"kZd gks rks mudh vk; crkb,A 7

Two brothers have their annual incomes in the ratio

of 8 : 5 and their spending in the ratio of 5 : 3. If they

save  ` 2400 and ` 2000 p.a. Find their incomes.

¼c½ 15 fdeh izfr ?k.Vk dh xfr ls nkSM+rk gqvk ,d O;fDr 10

feuV esa ,d iqy dks ikj dj ysrk gSA iqy dh yEckbZ crkvksA 8

A person running with a speed of 15 kph crosses a

bridge in 10 minutes. Find the length of the bridge.

vFkok 
OR

¼v½ fdlh O;fDr dk igys ik¡p eghuksa dk vkSlr ekfl; O;; `
120 vkSj vxys 4 eghuksa dk ` 80 gSA ;fn bu ukS eghuksa dh
vof/k ds nkSjku mlus ` 25 cpk;s gksa rks mldh ekfld vk;
Kkr dhft,A 7

The average monthly expenditure of a person for the

first five months is ̀  120 and for the next four months 

is ` 80. If he has saved ` 25 during the period of nine

month, find out his monthly income.

¼c½ fdlh d{kk esa fdlh fnu 15% yM+ds vuqifLFkr Fks rFkk 34

mifLFkr FksA d{kk esa yM+dksa dh la[;k crkvksA 8

On a ceertain day 15% of the boys were absent and 34 

were present. Find the number of boys enrolled in the

class.

bdkbZ–5

 Unit–5

5. ¼v½ ,d ,tsUV dks fdlh QeZ }kjk ` 700 ekfld osru rFkk fcØh
ij 5% deh'ku fn;s tkus vFkok fcØh ij dsoy 15% deh'ku 
fn;s tkus dk fodYi fn;k tkrk gSA ;fn ekfld fcØh vkSlru  
` 8400 gS rks og fdl 'krZ dks ilan djsxk \ 7

A firm offers salary of ` 700 plus a commission of

5% on sales or only commission at the rate of 15%. If

the average monthly sales amount to ̀  8400 which of

the terms would he prefer ?

¼c½ ,d csbZeku nqdkunkj ykxr ewY; ij cspus dh ckr djrs gq,
dsoy 950 xzke dk ,d >wBk fdyksxzke dk ckV iz;ksx esa ykrk
gSA mlds ykHk dk izfr'kr Kkr dhft,A 8

A dishonest shopkeeper professing to sell at cost

price uses a false kilogram weight of 950 gram  only.

Find his gain percentage.
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vFkok 
OR

fuEufyf[kr ifjogu leL;k dks U;wure ykxr fof/k ls gy
dhft,µ 15

Solve the following transportation problem by least

cost method :

dkj[kkuk cktkj (Market) iwfr

Plants M 1 M 2 M 3 M 4 (Supply)

P1 18 30 50 10 7

P 2 70 30 40 60 9

P 3 40 08 70 20 18

ek¡x 5 8 7 14 34

(Demand)

[ 7 ] ED-2005


